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TNPSC GROUP i MAIN EXAM – 2023 
WALKIN TEST II SOCIAL ISSUES and APTITUDE & MENTAL ABILITY  

 
Total Marks: 100              Time: 1 ½ hrs 
 

Section A 
4 x 10 = 40 

Answer the following in 150 words each 
 

1. Answer the following questions 
gpd;tUk; tpdhf;fSf;F tpilasp 
 
a. Find the LCM of pair of the following polynomials (5m) 

x4 + 3x3 + 6 x2 + 5x + 3, x4 + 2 x2 + x + 2 whose GCD is x2 + x + 1 
fPo;f;fz;l Nrhb gy;Ywg;Gf; Nfhitfspd; kP.ngh.k. fhz;f 
x4 + 3x3 + 6 x2 + 5x + 3, x4 + 2 x2 + x + 2 ,tw;wpd; kP.ngh.t x2 + x + 1 

 
b. The product of 2 two digit numbers is 300 and their HCF is 5. What are the numbers? 

(5m) 
,uz;L <hpyf;f vz;fspd; ngUf;fw;gyd; 300 kw;Wk; mtw;wpd; kP.ng.fh.5 vdpy;> 
mt;ntz;fs; ahit? 

 
2. A building and a statue are in opposite side of a street from each other 35 m apart. From a 

point on the roof of building the angle of elevation of the top of statue is 24° and the angle of 
depression of base of the statue is 34°. Find the height of the statue. (10m) 
xU njUtpy; fl;llKk;> rpiyAk; vjpnujph;j; jpirapy; 35 kP ,ilntspapy; mike;Js;sd. 
fl;llj;jpd; cr;rpapypUe;J> rpiy cr;rpapd; Vw;wf;Nfhzk; 24° kw;Wk; rpiy mbapd; 
,wf;ff;Nfhzk; 34° vdpy;> rpiyapd; cauk; vd;d? 
 

3. Answer the following questions 
gpd;tUk; tpdhf;fSf;F tpilasp 
 
a. X speaks truth in 70 percent of cases, and Y in 90 percent of cases. What is the probability 

that they likely to contradict each other in stating the same fact? (5m) 
X vd;gth; 70% jUzq;fspy; cz;ikNa NgRthh;. Y vd;gth; 90% jUzq;fspy; 
cz;ikNa NgRthh; vdpy; xNu fUj;ij ,UtUk; $Wifapy; xUtUf;nfhUth; 
Kuz;gl;l fUj;jpidj; njhptpg;gjw;fhd epfo;jfT ahJ? 

 
b. Three coins are tossed simultaneously. Find the probability that either exactly two tails 

or at least one head turn up. (5m) 
%d;W ehzq;fs; xNu Neuj;jpy; Rz;lg;gLfpd;wd. rhpahf ,U g+f;fs; my;yJ 
Fiwe;jgl;rk; xU jiyahtJ fpilf;Fk; epfo;r;rpapd; epfo;jftpidf; fhz;f 
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4. Answer the following questions 
gpd;tUk; tpdhf;fSf;F tpilasp 
 
a. A, B and C can do a piece of work in 11 days, 20 days and 55 days respectively, working 

alone. How soon can the work be done if A is assisted by B and C on alternate days? 
(5m) 
A, B kw;Wk; C xU Ntiyia KiwNa 11 ehl;fs;> 20 ehl;fs; kw;Wk; 55 ehl;fspy; 
jdpahf Kbf;f KbAk;. A f;F B xU ehSk; kw;Wk; C xUehSk; mLj;jLj;j ehl;fspy;  
cjtp nra;jhy; vj;jid ehl;fspy; Ntiy KbAk;? 
 

b. A tank can be filled by two inlet pipes P and Q in 15 minutes and 20 minutes 
respectively. Another outlet pipe R can empty the full tank in 24 minutes. If outlet pipe R 
is opened 6 minutes after pipes P and Q are opened, find the total time to fill the tank. 
(5m)                           

xU njhl;bia KiwNa 15 epkplq;fs; kw;Wk; 20 epkplq;fspy; P kw;Wk; Q Mfpa ,uz;L  

Foha;fs; %yk; epug;g KbAk;. kw;nwhU Foha;  R> 24 epkplq;fspy; KO njhl;biaAk; 
fhyp nra;JtpLk;. P kw;Wk; Q Foha;fs; jpwf;fg;gl;l 6 epkplq;fSf;Fg; gpwF R  Foha; 
jpwf;fg;gl;lhy;> njhl;bia epug;Gtjw;fhd nkhj;j Neuj;ijf; fhz;f. 

     
SECTION B 

4 x 15 = 60 
 

Answer the following in 250 words each 
 

5. An urn contains 3 white and 6 red balls. Four balls are drawn one by one with replacement 
from the urn. Find the probability distribution of the number of red balls drawn. Also, find 
the mean and variance of the distribution.(15m) 
xU fydpy; 3 nts;is kw;Wk; 6 rptg;G ge;Jfs; cs;sd. jpUk;g itf;FkhW rk tha;g;G 
Kiwapy; 4 Kiw ge;Jfis xd;wd;gpd; xd;whf vLf;Fk; NghJ fpilf;Fk; rptg;G 
epwg;ge;Jfspd; vz;zpf;ifapd; epfo;jfTg; gutiyf; fhz;f. NkYk; ruhrhp> gutw;gb 
Mfpatw;iwf; fhz;f. 
 

6. Answer the following questions 
 
a. A can do a work in 45 days. He works at it for 15 days and then, B alone finishes the 

remaining work in 24 days. Find the time taken to complete 80% of the work, if they 
work together. (7.5m) 
A Mdth; xU Ntiyia 45 ehl;fspy; Kbg;ghh;. mth; 15 ehl;fSf;F kl;LNk Ntiy 
nra;jhh;. gpwF B Mdth; kPjkpUe;j Ntiyapid 24 ehl;fspy; Kbf;fpwhh;. ,UtUk; 
,ize;J Ntiy nra;jhy;> me;j Ntiyapd; 80% I Kbf;f MFk; Neuj;ijf; fhz;f   

 
b. Find the GCD of the given polynomials 3x4 + 6x3 – 12x2 – 24x, 4x4 + 14x3 + 8x2 – 8x (7.5m) 

fPo;f;fhZk; gy;Ywg;Gf; Nfhitfspd; kP.ngh.t fhz;f 
3x4 + 6x3 – 12x2 – 24x, 4x4 + 14x3 + 8x2 – 8x 

 
7. Critically analyse the magnitude of population problems in India and suggest ways and 

means of controlling in growth 
,e;jpa kf;fl;njhifapdhy; Vw;gLk; gpur;ridfspd; tPhpaj;ij tpthpj;J mijf; 
fl;Lg;gLj;Jtjw;fhd jPh;tpid vOJf 

 
8. Poverty is the root cause of all social evils – discuss 

midj;J r%f jPikfSf;Fk; mbg;gilf; fhuzk; tWikNa – tpthjp 


